

Transformation groups on Heisenberg geometry

Yoshinobu KAMISHIMA*

(Received December 2, 1995)

Introduction

A geometry (\mathcal{G}, X) consists of a finite dimensional Lie group \mathcal{G} with finitely many components and an n -dimensional homogeneous space X from \mathcal{G} . A (\mathcal{G}, X) -structure on an n -dimensional smooth manifold M is a geometric structure locally modelled on X with coordinate changes lying in \mathcal{G} . A manifold equipped with a (\mathcal{G}, X) -structure is said to be a (\mathcal{G}, X) -manifold. If $X = S^n$ equipped with the group of conformal transformations $\mathcal{G} = \mathbf{Conf}(S^n)$, then the geometry (\mathcal{G}, X) is called conformally flat geometry. It is well known that the sphere with one point removed is conformally equivalent to the flat euclidean space by the stereographic projection. The subgroup of $\mathbf{Conf}(S^n)$ leaving one point fixed is called the group of similarity transformations, for which we denote $\mathbf{Sim}(\mathbf{R}^n)$. Then the pair $(\mathbf{Sim}(\mathbf{R}^n), \mathbf{R}^n)$ is said to be similarity geometry.

Spherical CR geometry is viewed as a complex version of conformally flat geometry. In fact, conformally flat geometry is identified with the boundary of the real hyperbolic space $\mathbf{H}_{\mathbf{R}}^{n+1}$ with hyperbolic group $PO(n+1, 1)$, while spherical CR geometry is identified with the boundary of complex hyperbolic space $\mathbf{H}_{\mathbf{C}}^{n+1}$ with hyperbolic group $PU(n+1, 1)$ which acts on the boundary sphere as Cauchy-Riemann transformations. As a consequence, the sphere with one point removed $S^{2n+1} - \{\infty\}$ inherits a geometry from the spherical CR geometry. Such geometry is called Heisenberg geometry. In this paper, we study the Heisenberg geometry from the viewpoint of transformation groups.

We refer to [4], [8], [9], [6], [20] for the current development of Heisenberg geometry. Especially, chains, and cross ratio.

1. Spherical CR -structure

We shall explain spherical CR -structure. Recall the projective model of Kähler hyperbolic space. Let \mathbf{C}^{n+2} denote the complex vector space, equipped with the Hermitian form

$$B(z, w) = -\bar{z}_1 w_1 + \bar{z}_2 w_2 + \cdots + \bar{z}_{n+2} w_{n+2}.$$

*Supported in part by the JSPS-NUS.

Consider the following subspaces in $\mathbf{C}^{n+2} - \{0\}$:

$$\begin{aligned} V_0^{2(n+1)+1} &= \{z \in \mathbf{C}^{n+2} \mid \mathcal{B}(z, z) = 0\}, \\ V_{-1}^{2(n+1)+1} &= \{z \in \mathbf{C}^{n+2} \mid \mathcal{B}(z, z) = -1\}, \\ V_-^{2(n+2)} &= \{z \in \mathbf{C}^{n+2} \mid \mathcal{B}(z, z) < 0\}. \end{aligned}$$

Let $P : \mathbf{C}^{n+2} - \{0\} \rightarrow \mathbf{CP}^{n+1}$ be the canonical projection onto the complex projective space. By definition ([2]), the complex hyperbolic space $\mathbf{H}_{\mathbf{C}}^{n+1}$ is defined to be $P(V_-^{2(n+2)})$. The group $U(n+1, 1)$ is the subgroup of $\mathbf{GL}(n+2, \mathbf{C})$ whose elements preserve the form \mathcal{B} . Then the action of $U(n+1, 1)$ on $V_-^{2(n+2)}$ induces an action of $\mathbf{H}_{\mathbf{C}}^{n+1}$. The kernel of this action is the center $\mathcal{Z}(n+1, 1)$ isomorphic to the circle S^1 . Let $PU(n+1, 1) = U(n+1, 1)/\mathcal{Z}(n+1, 1)$. There is an equivariant projection

$$P : (U(n+1, 1), V_-^{2(n+2)}) \rightarrow (PU(n+1, 1), \mathbf{H}_{\mathbf{C}}^{n+1}).$$

Put $S^{2n+1} = P(V_0^{2(n+1)+1})$. Then the standard sphere S^{2n+1} is the boundary of the unit ball $\mathbf{H}_{\mathbf{C}}^{n+1}$ in \mathbf{C}^{n+1} and the group of biholomorphic transformations of $\mathbf{H}_{\mathbf{C}}^{n+1}$ is isomorphic to the group of unitary transformations $PU(n+1, 1)$. The group $PU(n+1, 1)$ acts on the boundary by CR automorphisms and $\mathbf{Aut}_{CR}(S^{2n+1}) = PU(n+1, 1)$ ([1]). If M is a spherical CR -manifold of dimension $2n+1$, then there is a developing pair

$$(\rho, \text{dev}) : (\mathbf{Aut}_{CR}(\tilde{M}), \tilde{M}) \rightarrow (PU(n+1, 1), S^{2n+1}).$$

For the topology of spherical CR -manifolds, we refer to [4], [20], [10].

2. Heisenberg geometry

We examine the Heisenberg geometry from the viewpoint of transformation groups. First we summarize the result:

Theorem *A maximal amenable group G of $U(n+1, 1)$ is isomorphic to the semidirect product $\mathcal{N} \rtimes (U(n) \times \mathbf{C}^*)$ where \mathcal{N} is the Heisenberg group. It lies in the following exact sequence:*

$$1 \rightarrow \mathbf{R} \rightarrow \mathcal{N} \rightarrow \mathbf{C}^n \rightarrow 1.$$

For the point at infinity $\{\infty\} \in S^{2n+1}$, the space $S^{2n+1} - \{\infty\}$ is canonically identified with \mathcal{N} . Then $\mathbf{Aut}_{CR}(\mathcal{N})$ is the stabilizer at the point $\{\infty\}$ in $PU(n+1, 1)$. Moreover, $\mathbf{Aut}_{CR}(\mathcal{N})$ is a maximal amenable subgroup of $PU(n+1, 1)$. If $P : U(n+1, 1) \rightarrow PU(n+1, 1)$ is the projection, then PG is isomorphic to $\mathbf{Aut}_{CR}(\mathcal{N}) = \mathcal{N} \rtimes (U(n) \times \mathbf{R}^+)$.

Now we explain how to deduce the Heisenberg geometry by using Cayley-Klein projective model (cf. [2], [1], [10]).

Let

$$P : (U(n+1, 1), V_-^{n+2} \cup V_0^{2(n+1)+1}) \longrightarrow (PU(n+1, 1), \mathbf{H}_{\mathbf{C}}^{n+1} \cup S^{2n+1})$$

be the projection as above. Let $\{e_1, \dots, e_{n+2}\}$ be the standard basis with respect to the Hermitian form \mathcal{B} , i.e.,

$$\mathcal{B}(e_1, e_1) = -1, \quad \mathcal{B}(e_i, e_j) = \delta_{ij} \quad (i, j = 2, \dots, n+2), \quad \mathcal{B}(e_1, e_j) = 0 \quad (j = 2, \dots, n+2).$$

Since $V_0^{2(n+1)+1}$ is a cone, we can assume that the inverse image $P^{-1}(\infty)$ consists of a complex line passing through the vector $f_1 = (e_1 + e_{n+2})/\sqrt{2}$. Let G be the subgroup of $U(n+1, 1)$ which leaves the vector f_1 invariant. The stabilizer $PU(n+1, 1)_\infty$ at $\{\infty\}$ is the image of the subgroup G by P . As above it is known that G is a maximal amenable Lie group. Put $f_{n+2} = (e_1 - e_{n+2})/\sqrt{2}$.

Now each element g of G has the following form with respect to the basis $\{f_1, e_2, \dots, e_{n+1}, f_{n+2}\}$,

$$g = \begin{pmatrix} \lambda & x & z \\ 0 & B & y \\ 0 & 0 & \mu \end{pmatrix}$$

where $\lambda, \mu \in \mathbf{C}^*$, B is an (n, n) -matrix. x is an n -th line vector, y is an n -th column vector. As $\mathcal{B}(gz, gw) = \mathcal{B}(z, w)$ for arbitrary $z, w \in \mathbf{C}^{n+2}$, we have the following relations.

$$(1) \quad \lambda \bar{\mu} = 1, \quad x = \lambda {}^t \bar{y} B,$$

$$(2) \quad \bar{z} \mu + \bar{\mu} z = |y|^2, \quad B \in U(n).$$

Then the Heisenberg group \mathcal{N} is denoted by the subgroup consisting of the following matrices;

$$\begin{pmatrix} 1 & x & z \\ 0 & I & y \\ 0 & 0 & 1 \end{pmatrix}$$

for which

$$\operatorname{Re} z = \frac{|y|^2}{2}, \quad x = {}^t \bar{y}.$$

This follows from the relations (1), (2) that $\bar{z} + z = |y|^2$. Thus, letting $z = \frac{|y|^2}{2} + ia$, there is a one-to-one correspondence between the product $\mathbf{R} \times \mathbf{C}^n$ and this group:

$$(a, y) = \begin{pmatrix} 1 & {}^t \bar{y} & \frac{|y|^2}{2} + ia \\ 0 & I & y \\ 0 & 0 & 1 \end{pmatrix}$$

We examine the group law on the product $\mathbf{R} \times \mathbf{C}^n$.

$$(a, y) \cdot (b, y') = \begin{pmatrix} 1 & {}^t\bar{y} & z \\ 0 & \mathbf{I} & y \\ 0 & 0 & 1 \end{pmatrix} \begin{pmatrix} 1 & {}^t\bar{y}' & z' \\ 0 & \mathbf{I} & y' \\ 0 & 0 & 1 \end{pmatrix} = \begin{pmatrix} 1 & {}^t\bar{y}' + {}^t\bar{y} & z' + {}^t\bar{y}y' + z \\ 0 & \mathbf{I} & y' + y \\ 0 & 0 & 1 \end{pmatrix}.$$

Calculate:

$$z + z' = \frac{|y|^2}{2} + ia + \frac{|y'|^2}{2} + ib = \frac{|y|^2 + |y'|^2}{2} + i(a + b).$$

Since $\overline{\langle y, y' \rangle} = {}^t\bar{y} \cdot y' = {}^t\bar{y}' \cdot y = \langle y', y \rangle$,

$$|y + y'|^2 = \langle y + y', y + y' \rangle = ({}^t\bar{y} + {}^t\bar{y}')(y + y') = |y|^2 + |y'|^2 + 2\operatorname{Re} \langle y, y' \rangle,$$

Thus

$$z + z' = \frac{|y + y'|^2}{2} - \operatorname{Re} \langle y, y' \rangle + i(a + b).$$

As above, ${}^t\bar{y}y' = \langle y, y' \rangle$, we have

$$\begin{aligned} z + {}^t\bar{y}y' + z' &= z + z' + \langle y, y' \rangle = \frac{|y + y'|^2}{2} + i(a + b) - \operatorname{Re} \langle y, y' \rangle + \langle y, y' \rangle \\ &= \frac{|y + y'|^2}{2} + i\operatorname{Im} \langle y, y' \rangle + i(a + b) \\ &= \frac{|y + y'|^2}{2} + i(a + b + \operatorname{Im} \langle y, y' \rangle). \end{aligned}$$

Thus by the correspondence we obtain

$$\begin{pmatrix} 1 & {}^t\bar{y}' + {}^t\bar{y} & z' + {}^t\bar{y}y' + z \\ 0 & \mathbf{I} & y' + y \\ 0 & 0 & 1 \end{pmatrix} = (a + b + \operatorname{Im} \langle y, y' \rangle, y + y').$$

Hence the Heisenberg Lie group \mathcal{N} is the product $\mathbf{R} \times \mathbf{C}^n$ with group law

$$(a, y) \cdot (b, y') = (a + b + \operatorname{Im} \langle y, y' \rangle, y + y').$$

In fact, \mathcal{N} is nilpotent because $[\mathcal{N}, \mathcal{N}] = \mathbf{R}$ which is the center consisting of the form $(a, 0)$.

Note also that the above correspondence can be written as

$$(\operatorname{Im}z, y) \longrightarrow \begin{pmatrix} 1 & {}^t\bar{y} & z \\ 0 & \mathbf{I} & y \\ 0 & 0 & 1 \end{pmatrix},$$

for which $\operatorname{Re}z = \frac{|y|^2}{2}$.

Next, let $\mathcal{N} \rtimes (U(n) \times \mathbf{C}^*)$ be the semidirect product where the action of $U(n) \times \mathbf{C}^*$ on \mathcal{N} is given by

$$(*) \quad (A, \nu) \circ (a, y) = (|\nu|^{-2} \nu a \nu^{-1}, Ay \nu^{-1}).$$

(Note that $\nu a \nu^{-1} = a$ in the \mathbf{C} -case. Compare §3.)

We show that the subgroup G of the matrices

$$g = \begin{pmatrix} \lambda & x & z \\ 0 & B & y \\ 0 & 0 & \mu \end{pmatrix}$$

is isomorphic to the semidirect product $\mathcal{N} \rtimes (U(n) \times \mathbf{C}^*)$ by the correspondence

$$g = \begin{pmatrix} \lambda & x & z \\ 0 & B & y \\ 0 & 0 & \mu \end{pmatrix} \rightarrow ((\operatorname{Im}(z\bar{\lambda}), y\lambda), (B, \mu)).$$

In order to prove that, first g has the following decomposition:

$$\begin{pmatrix} \lambda & x & z \\ 0 & B & y \\ 0 & 0 & \mu \end{pmatrix} = \begin{pmatrix} 1 & xB^* & z\bar{\lambda} \\ 0 & I & y\bar{\lambda} \\ 0 & 0 & 1 \end{pmatrix} \cdot \begin{pmatrix} \lambda & 0 & 0 \\ 0 & B & 0 \\ 0 & 0 & \mu \end{pmatrix}.$$

Obviously,

$$\begin{pmatrix} \lambda & 0 & 0 \\ 0 & B & 0 \\ 0 & 0 & \mu \end{pmatrix} \in G.$$

Note that

$$\begin{aligned} xB^* &= (\lambda^t \bar{y} B) B^* &= \lambda^t \bar{y} \text{ from (1),} \\ \overline{z\bar{\lambda}} + z\bar{\lambda} &= \lambda \bar{z} + z\bar{\lambda} \\ &= (\mu \bar{\lambda}) \lambda \bar{z} + z\bar{\lambda} (\lambda \bar{\mu}) \text{ from (1)} \\ &= \mu |\lambda|^2 \bar{z} + z |\lambda|^2 \bar{\mu} \\ &= |\lambda|^2 (\mu \bar{z} + z \bar{\mu}) \\ &= |\lambda|^2 |y|^2 = |y \bar{\lambda}|^2 \text{ from (2).} \end{aligned}$$

So,

$$\begin{pmatrix} 1 & xB^* & z\bar{\lambda} \\ 0 & I & y\bar{\lambda} \\ 0 & 0 & 1 \end{pmatrix} \in G$$

Then by the definition,

$$\begin{pmatrix} 1 & xB^* & z\bar{\lambda} \\ 0 & I & y\bar{\lambda} \\ 0 & 0 & 1 \end{pmatrix} \rightarrow ((\text{Im}(z\bar{\lambda}), y\lambda), (I, 1)).$$

$$\begin{pmatrix} \lambda & 0 & 0 \\ 0 & B & 0 \\ 0 & 0 & \mu \end{pmatrix} \rightarrow ((0, 0), (B, \mu)).$$

We see that the correspondence is a homomorphism for the above decomposition:

$$\begin{pmatrix} 1 & xB^* & z\bar{\lambda} \\ 0 & I & y\bar{\lambda} \\ 0 & 0 & 1 \end{pmatrix} \cdot \begin{pmatrix} \lambda & 0 & 0 \\ 0 & B & 0 \\ 0 & 0 & \mu \end{pmatrix} \rightarrow ((\text{Im}(z\bar{\lambda}), y\lambda), (I, 1)) \cdot ((0, 0), (B, \mu)).$$

In fact,

$$\begin{aligned} & ((\text{Im}(z\bar{\lambda}), y\lambda), (I, 1)) \cdot ((0, 0), (B, \mu)) \\ &= ((\text{Im}(z\bar{\lambda}), y\lambda) \cdot (I, 1) \circ (0, 0)), ((I, 1)(B, \mu)) \\ &= ((\text{Im}(z\bar{\lambda}), y\lambda) \cdot (0, 0)), (B, \mu) \\ &= ((\text{Im}(z\bar{\lambda}), y\lambda), (B, \mu)). \end{aligned}$$

Now,

$$\begin{aligned} & \begin{pmatrix} \lambda & x & z \\ 0 & B & y \\ 0 & 0 & \mu \end{pmatrix} \cdot \begin{pmatrix} \lambda' & x' & z' \\ 0 & B' & y' \\ 0 & 0 & \mu' \end{pmatrix} \\ &= \begin{pmatrix} 1 & xB^* & z\bar{\lambda} \\ 0 & I & y\bar{\lambda} \\ 0 & 0 & 1 \end{pmatrix} \cdot \begin{pmatrix} \lambda & 0 & 0 \\ 0 & B & 0 \\ 0 & 0 & \mu \end{pmatrix} \cdot \begin{pmatrix} 1 & x'B'^* & z'\bar{\lambda}' \\ 0 & I & y'\bar{\lambda}' \\ 0 & 0 & 1 \end{pmatrix} \cdot \begin{pmatrix} \lambda' & 0 & 0 \\ 0 & B' & 0 \\ 0 & 0 & \mu' \end{pmatrix} \\ &= \begin{pmatrix} 1 & xB^* & z\bar{\lambda} \\ 0 & I & y\bar{\lambda} \\ 0 & 0 & 1 \end{pmatrix} \cdot \begin{pmatrix} 1 & \lambda x' B'^* B^{-1} & \lambda z' \bar{\lambda}' \mu^{-1} \\ 0 & I & B y' \bar{\lambda}' \mu^{-1} \\ 0 & 0 & 1 \end{pmatrix} \cdot \begin{pmatrix} \lambda & 0 & 0 \\ 0 & B & 0 \\ 0 & 0 & \mu \end{pmatrix} \cdot \begin{pmatrix} \lambda' & 0 & 0 \\ 0 & B' & 0 \\ 0 & 0 & \mu' \end{pmatrix} \end{aligned}$$

$$= \begin{pmatrix} 1 & \lambda x' B'^* B^{-1} + x B^* & \lambda z' \bar{\lambda}' \mu^{-1} + xy' \bar{\lambda}' \mu^{-1} + z \bar{\lambda} \\ 0 & I & By' \bar{\lambda}' \mu^{-1} + y \bar{\lambda} \\ 0 & 0 & 1 \end{pmatrix} \cdot \begin{pmatrix} \lambda \lambda' & 0 & 0 \\ 0 & BB' & 0 \\ 0 & 0 & \mu \mu' \end{pmatrix},$$

which is mapped by the above remark;

$$\longrightarrow ((\text{Im}(\lambda z' \bar{\lambda}' \mu^{-1} + xy' \bar{\lambda}' \mu^{-1} + z \bar{\lambda}), By' \bar{\lambda}' \mu^{-1} + y \bar{\lambda}), (I, 1)) \cdot ((0, 0), (BB', \mu \mu')).$$

On the other hand, $\lambda \bar{\mu} = 1$ implies $\lambda = |\mu|^{-2} \mu$. Since $\alpha \cdot \text{Im} \beta \cdot \alpha^{-1} = \text{Im}(\alpha \beta \alpha^{-1})$, and

$$\langle y \bar{\lambda}, By' \bar{\lambda}' \mu^{-1} \rangle = (\lambda^t \bar{y}) By' \bar{\lambda}' \mu^{-1} = xy' \bar{\lambda}' \mu^{-1} \text{ from (1),}$$

the above formula becomes:

$$\begin{aligned} &= ((\text{Im}(\lambda z' \bar{\lambda}' \mu^{-1}) + \text{Im}(xy' \bar{\lambda}' \mu^{-1}) + \text{Im}(z \bar{\lambda}), By' \bar{\lambda}' \mu^{-1} + y \bar{\lambda}) \cdot (I, 1) \circ (0, 0)), \\ &\quad (I, 1)(BB', \mu \mu')) \\ &= ((|\mu|^{-2} \text{Im}(\mu z' \bar{\lambda}' \mu^{-1}) + \text{Im} \langle y \bar{\lambda}, By' \bar{\lambda}' \mu^{-1} \rangle + \text{Im}(z \bar{\lambda}), By' \bar{\lambda}' \mu^{-1} + y \bar{\lambda}) \cdot (0, 0)), \\ &\quad (BB', \mu \mu')) \\ &= (|\mu|^{-2} \mu \cdot \text{Im}(z' \bar{\lambda}') \cdot \mu^{-1} + \text{Im} \langle y \bar{\lambda}, By' \bar{\lambda}' \mu^{-1} \rangle + \text{Im}(z \bar{\lambda}), By' \bar{\lambda}' \mu^{-1} + y \bar{\lambda}), \\ &\quad (BB', \mu \mu')). \end{aligned}$$

By the action (*) of $U(n) \times \mathbf{C}^*$,

$$\begin{aligned} &((\text{Im}(z \bar{\lambda}), y \bar{\lambda}), (B, \mu)) \cdot ((\text{Im}(z' \bar{\lambda}'), y' \bar{\lambda}'), (B', \mu')) \\ &= ((\text{Im}(z \bar{\lambda}), y \bar{\lambda}) \cdot ((B, \mu) \circ (\text{Im}(z' \bar{\lambda}'), y' \bar{\lambda}')), (B, \mu) \cdot (B', \mu')) \\ &= ((\text{Im}(z \bar{\lambda}), y \bar{\lambda}) \cdot (|\mu|^{-2} \mu \cdot \text{Im}(z' \bar{\lambda}') \cdot \mu^{-1}, By' \bar{\lambda}' \mu^{-1}), (BB', \mu \mu')) \\ &= ((\text{Im}(z \bar{\lambda}) + |\mu|^{-2} \mu \cdot \text{Im}(z' \bar{\lambda}') \cdot \mu^{-1} + \text{Im} \langle y \bar{\lambda}, By' \bar{\lambda}' \mu^{-1} \rangle, y \bar{\lambda} + By' \bar{\lambda}' \mu^{-1}), \\ &\quad (BB', \mu \mu')). \end{aligned}$$

Therefore, the correspondence is a homomorphism:

$$\begin{pmatrix} \lambda & x & z \\ 0 & B & y \\ 0 & 0 & \mu \end{pmatrix} \cdot \begin{pmatrix} \lambda' & x' & z' \\ 0 & B' & y' \\ 0 & 0 & \mu' \end{pmatrix} \longrightarrow ((\text{Im}(z \bar{\lambda}), y \bar{\lambda}), (B, \mu)) \cdot ((\text{Im}(z' \bar{\lambda}'), y' \bar{\lambda}'), (B', \mu')).$$

Recall that $\mathbf{Aut}_{CR}(\mathcal{N}) = PG$, where $S^1 \rightarrow U(n+1, 1) \xrightarrow{P} PU(n+1, 1)$ is the projection as before. Then, PG is isomorphic to $\mathcal{N} \rtimes (U(n) \times \mathbf{R}^+)$, for which the action of $U(n) \times \mathbf{R}^+$

on \mathcal{N} is given by

$$(A, t) \circ (a, y) = (t^{-2}a, t^{-1}Ay).$$

As a final remark, we show that $P(G)$ acts transitively on $S^{2n+1} - \{\infty\}$. As

$$S^{2n+1} = P(V_0^{2(n+1)+1}) = \{|z_1, z_2, \dots, z_{n+2}\} \mid -|z_1|^2 + |z_2|^2 + \dots + |z_{n+2}|^2 = 0\}$$

by the definition, it implies that with respect to the basis $\{f_1, e_2, \dots, e_{n+1}, f_{n+2}\}$

$$S^{2n+1} = \{|z, y_1, \dots, y_n, \mu\} \mid -(\bar{z}\mu + \bar{\mu}z) + |y|^2 = 0\}.$$

Moreover, $P(f_1) = \infty = [1, 0, \dots, 0]$. So,

$$S^{2n+1} - \{\infty\} = \{|z, y_1, \dots, y_n, \mu\} \mid -(\bar{z}\mu + \bar{\mu}z) + |y|^2 = 0, \mu \neq 0\}.$$

Choose the point $x_0 = [0, \dots, 0, 1] = P(f_{n+2}) \in S^{2n+1} - \{\infty\}$. As $\mu \neq 0$, setting

$$\lambda = \frac{1}{\bar{\mu}}, \quad x = \lambda^t \bar{y} \mathbf{I},$$

the element

$$g = \begin{pmatrix} \lambda & x & z \\ 0 & \mathbf{I} & y \\ 0 & 0 & \mu \end{pmatrix}$$

belongs to G and

$$(z, y_1, \dots, y_n, \mu) = g \cdot (0, \dots, 0, 1) = g \cdot f_{n+2},$$

so that $P(g) \cdot x_0 \in S^{2n+1} - \{\infty\}$. Since $P : G \rightarrow PG$ maps \mathcal{N} onto itself, it is easy to check that

$$\mathcal{N} \cdot x_0 = P(G) \cdot x_0 = S^{2n+1} - \{\infty\}$$

with stabilizer $P(G)_{x_0}$ isomorphic to

$$P\left(\begin{pmatrix} \lambda & 0 & 0 \\ 0 & \mathbf{B} & 0 \\ 0 & 0 & \mu \end{pmatrix}\right) \approx U(n) \times \mathbf{R}^+.$$

3. Remark

We can also consider the quaternionic Heisenberg geometry. In general, our geometry (G, X) is lying on the boundary of rank one symmetric space with noncompact factor.

Let \mathbf{F} stand for the noncommutative field of quaternions \mathbf{F} . Let \mathbf{F}^{n+2} denote the \mathbf{R} -vector space, equipped with the Hermitian pairing over \mathbf{F} as before;

$$\mathcal{B}(z, w) = -\bar{z}_1 w_1 + \bar{z}_2 w_2 + \cdots + \bar{z}_{n+2} w_{n+2}.$$

Let $P : \mathbf{F}^{n+2} - \{0\} \rightarrow \mathbf{FP}^{n+1}$ be the canonical projection onto the quaternionic projective space. Consider the $4(n+2)$ -subspace $V_-^{4(n+2)} = \{z \in \mathbf{F}^{n+2} \mid b(z, z) < 0\}$. Then the quaternionic hyperbolic space $\mathbf{H}_{\mathbf{F}}^{n+1}$ of dimension $4n+4$, is defined to be $P(V_-^{4(n+2)})$.

The group $\mathbf{O}(n+1, 1; \mathbf{F})$ is the subgroup of $\mathbf{GL}(n+2, \mathbf{F})$ whose elements preserve the Hermitian form \mathcal{B} . It is called the Lorentz group of type $(n+1, 1)$. The group $\mathbf{O}(n+1, 1; \mathbf{F})$ leaves $V_-^{4(n+2)}$ invariant and thus it induces an action on $\mathbf{H}_{\mathbf{F}}^{n+1}$. The kernel of this action is the center $\mathcal{Z}(n+1, 1; \mathbf{F})$ which is isomorphic to $\{\pm 1\}$. The quotient group $\mathbf{O}(n+1, 1; \mathbf{F}) / \mathcal{Z}(n+1, 1; \mathbf{F})$ is denoted by $\mathbf{PSp}(n+1, 1)$. Then it is known that the geometry $(\mathbf{PSp}(n+1, 1), \mathbf{H}_{\mathbf{F}}^{n+1})$ is a complete simply connected Riemannian manifold of $-1 \leq$ sectional curvature $\leq -\frac{1}{4}$ (cf. [14],[15]).

The projective compactification of $\mathbf{H}_{\mathbf{F}}^{n+1}$ is obtained by taking the closure $\bar{\mathbf{H}}_{\mathbf{F}}^{n+1}$ of $\mathbf{H}_{\mathbf{F}}^{n+1}$ in \mathbf{FP}^{n+1} . Moreover if we put a $(4(n+2) - 1)$ -dimensional subspace $V_0^{4(n+2)-1} = \{z \in \mathbf{F}^{n+2} \mid b(z, z) = 0\}$, then it follows that $\bar{\mathbf{H}}_{\mathbf{F}}^{n+1} = \mathbf{H}_{\mathbf{F}}^{n+1} \cup P(V_0^{4(n+2)-1})$. The boundary of $\mathbf{H}_{\mathbf{F}}^{n+1}$ is the standard sphere of dimension $4n+3$. Put $P(V_0^{4(n+2)-1}) = S^{4n+3}$. The group of isometries $\mathbf{PSp}(n+1, 1)$ extends to a smooth action on the boundary sphere S^{4n+3} . The geometry $(\mathbf{PSp}(n+1, 1), S^{4n+3})$ is said to be pseudo-quaternionic flat geometry.

As usual, we write $\mathbf{Aut}_{\mathbf{FSp}}(S^{4n+3}) = \mathbf{PSp}(n+1, 1)$.

Put $S^{4n+3} - \{\infty\} = \mathcal{M}$. Denote by $\mathbf{Aut}_{\mathbf{FSp}}(\mathcal{M})$ the subgroup of $\mathbf{Aut}_{\mathbf{FSp}}(S^{4n+3})$ which stabilizes the point at infinity $\{\infty\}$. Then the geometry $(\mathbf{Aut}_{\mathbf{FSp}}(\mathcal{M}), \mathcal{M})$ is called quaternionic Heisenberg geometry.

A maximal amenable group G of $\mathbf{Sp}(n+1, 1)$ is isomorphic to the semidirect product $\mathcal{M} \rtimes (\mathbf{Sp}(n) \times \mathbf{F}^*)$ where \mathcal{M} is the quaternion Heisenberg group. It lies in the following exact sequence: $1 \rightarrow \mathbf{R}^3 \rightarrow \mathcal{M} \rightarrow \mathbf{F}^n \rightarrow 1$. For the point $\{\infty\}$ of S^{4n+3} , as we identify $S^{4n+3} - \{\infty\}$ with \mathcal{M} , $\mathbf{Aut}_{\mathbf{FSp}}(\mathcal{M})$ is the stabilizer in $\mathbf{PSp}(n+1, 1)$ of the point $\{\infty\}$. Then $\mathbf{Aut}_{\mathbf{FSp}}(\mathcal{M})$ is a maximal amenable subgroup of $\mathbf{PSp}(n+1, 1)$.

Let $\mathbf{Z}_2 \rightarrow \mathbf{Sp}(n+1, 1) \xrightarrow{P} \mathbf{PSp}(n+1, 1)$ be the projection. Since G is as above, PG is isomorphic to $\mathbf{Aut}_{\mathbf{FSp}}(\mathcal{M}) = \mathcal{M} \rtimes (\mathbf{Sp}(n) \cdot \mathbf{Sp}(1) \times \mathbf{R}^+)$.

Let

$$P : (\mathbf{Sp}(n+1, 1), V_-^{n+2} \cup V_0^{4n+7}) \rightarrow (\mathbf{PSp}(n+1, 1), \mathbf{H}_{\mathbf{F}}^{n+1} \cup S^{4n+3})$$

be the projection as before. For the point at infinity $\{\infty\} \in S^{4n+3}$, the stabilizer $PU(n+1, 1)_{\infty}$ at $\{\infty\}$ is the image of the subgroup G by P . As above it is known that

G is a maximal amenable Lie group. Each $g \in G$ consists of

$$g = \begin{pmatrix} \lambda & x & z \\ 0 & B & y \\ 0 & 0 & \mu \end{pmatrix}$$

where $\lambda, \mu \in \mathbf{F}^*$, B is an (n, n) -matrix. x is an n -th line vector, y is an n -th column vector. As $B(gz, gw) = B(z, w)$ for arbitrary $z, w \in \mathbf{F}^{n+2}$, we have the following relations.

$$(1) \quad \lambda\bar{\mu} = 1, \quad x = \lambda^t \bar{y} B,$$

$$(2) \quad \bar{z}\mu + \bar{\mu}z = |y|^2, \quad B \in Sp(n).$$

Then the Heisenberg group \mathcal{M} is denoted by the subgroup consisting of the following matrices;

$$\begin{pmatrix} 1 & x & z \\ 0 & I & y \\ 0 & 0 & 1 \end{pmatrix}$$

for which

$$\operatorname{Re} z = \frac{|y|^2}{2}, \quad x = {}^t \bar{y}.$$

This follows from the relations (1), (2) that $\bar{z} + z = |y|^2$.

Thus, putting $z = \frac{|y|^2}{2} + ia + jb + kc$, there is a one-to-one correspondense between the product $\mathbf{R}^3 \times \mathbf{F}^n$ and this group:

$$((a, b, c), y) = \begin{pmatrix} 1 & {}^t \bar{y} & \frac{|y|^2}{2} + ia + jb + kc & \\ 0 & I & & y \\ 0 & 0 & & 1 \end{pmatrix}$$

The group law on the product $\mathbf{R}^3 \times \mathbf{F}^n$ is obtained similarly; thus the Heisenberg Lie group \mathcal{M} is the product $\mathbf{R}^3 \times \mathbf{F}^n$ with group law

$$(a, y) \cdot (b, y') = (a + b + \operatorname{Im} \langle y, y' \rangle, y + y').$$

\mathcal{M} is nilpotent because $[\mathcal{M}, \mathcal{M}] = \mathbf{R}^3$ which is the center consisting of the form $(a, 0)$. As above, $\mathcal{M} \rtimes (Sp(n) \times \mathbf{F}^*)$ is the semidirect product for which the action of $Sp(n) \times \mathbf{F}^*$ on \mathcal{M} is given by

$$(*) \quad (A, \nu) \circ (a, y) = (|\nu|^{-2} \nu a \nu^{-1}, A y \nu^{-1}).$$

Finally, since $\operatorname{Aut}_{\mathbf{FSp}}(\mathcal{M}) = PG$, where $\mathbf{Z}/2 \rightarrow \mathbf{Sp}(n+1, 1) \xrightarrow{P} P\mathbf{Sp}(n+1, 1)$ is the projection, PG is isomorphic to $\mathcal{M} \rtimes (Sp(n) \cdot Sp(1) \times \mathbf{R}^+)$, for which the action of $Sp(n) \cdot Sp(1) \times \mathbf{R}^+$

on \mathcal{M} is given as follows: if $\nu = (g, t)$, then

$$(A, (g, t)) \circ (a, y) = (t^{-2}gag^{-1}, t^{-1}Ayg^{-1}).$$

References

- [1] D.M. Burns and S. Shnider, "Spherical hypersurfaces in complex manifolds," *Invent. Math.*, vol. 33, pp. 223–246, 1976.
- [2] S.S. Chen and L. Greenberg, 'Hyperbolic Spaces,' *Contribution to Analysis* (A Collection of Papers Dedicated to Lipman Bers, eds. L. Ahlfors and others), Academic Press, New York and London, pp. 49–87, 1974.
- [3] S.S. Chern and J. Moser, "Real hypersurfaces in complex manifolds," *Acta Math.*, vol. 133, pp. 48–69, 1974.
- [4] W. Goldman, 'Complex hyperbolic geometry,' *to appear*.
- [5] W. Goldman and Y. Kamishima, "Conformal automorphisms and conformally flat manifolds," *Trans. A.M.S.*, vol. 323, pp. 797–810, 1991.
- [6] Inkang Kim, "Complex Hyperbolic manifolds and their marked length spectrums," *Preprint*, 1995.
- [7] H. Jacobowitz, 'An introduction to CR structures,' *Mathematical Surveys and Monographs.*, vol. 32, A.M.S., 1990.
- [8] A. Korányi and H. Reimann, "The complex cross ratio on the Heisenberg group," *L'Enseignement Math.*, vol. 33, pp. 291–300, 1987.
- [9] A. Korányi and H. Reimann, "Quasiconformal mappings on the Heisenberg group," *Invent. Math.*, vol. 80, pp. 309–338, 1985.
- [10] Y. Kamishima and T. Tsuboi, " CR -structures on Seifert manifolds," *Invent. Math.*, vol. 104, pp. 149–163, 1991.
- [11] Y. Kamishima, "Conformally flat manifolds whose development maps are not surjective," *Trans. A.M.S.*, vol. 38 (2), pp. 607–621, 1986.
- [12] "Standard pseudo-Hermitian structure and Seifert fibration on CR manifold," *Annals of Global Analysis and Geometry*, vol. 12, pp. 261–289, 1994.
- [13] "Geometric flows on compact manifolds and Global rigidity ," *to appear in Topology*.
- [14] S. Kobayashi, 'Transformation Groups in Differential Geometry,' *Springer-Verlag, Ergebnisse Math.*, vol. 70, 1970.
- [15] S. Kobayashi and K. Nomizu, 'Foundations of differential geometry I,II,' *Interscience John Wiley & Sons, New York*, 1969.

- [16] R. Kulkarni, "On the principle of uniformization," *J. Diff. Geom.*, vol. 13, pp. 109–138, 1978.
- [17] R. Kulkarni and U. Pinkall, "Uniformization of geometric structures with applications to conformal geometry," *SLNMN, Springer Berlin* 1209, 1986.
- [18] J. Lelong-Ferrand, "Transformations conformes et quasi conformes des variétés riemanniennes compactes," *Acad. Roy. Belgique Sci. Mem. Coll.*, vol. 8, pp. 1–44, 1971.
- [19] S. Matsumoto, "Foundations of conformal flat structure," *Advanced studies in pure math.*, vol. 20, pp. 167–261, 1992.
- [20] R. Miner, "Spherical CR -manifolds with amenable holonomy," *International J. of Math.*, vol. 1 (4), pp. 479–501, 1991.
- [21] M. Obata, "The conjectures on conformal transformations of Riemannian manifolds," *J. Diff. Geom.*, vol. 6, pp. 247–258, 1971.

Department of Mathematics,
Kumamoto University,
Kumamoto 860, JAPAN
(yoshi@sci.kumamoto-u.ac.jp)